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1/ ‘-busmess will close where MC is equal to the minimum point of the i
& AVE Y
F / the barriers are not economic in nature v*

1.2.5 A/ the process by which soil and rock are removed from the earth’s

surface and deposited elsewhere v

1.2.6 B/ itexcludes goods or products whose process are volatile such as food
and fuel v/

1.2.7 D/ The activity of people visiting undisturbed natural areas, e.g. Kruger
national park v’

1.2.8 H/ Prohibits the manufacturing of twelve of the deadliest chemicals v/

Bx1) " (8)

1.3. ONE TERM
1.3.1 Price leadership v
1.3.2 Long-run v
1.3.3 Patent v
1.3.4 Core inflation v/
1.3.5 Transit tourists v/
1.3.6 Air pollution v
&x1) (6)
TOTAL SECTION A: 30 3
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Answer any TWO of the three questions in this section.
QUESTION 2: MICROECONOMICS

2.1 Answer the following questions.

2.1.1 Give any TWO examples of negative externalities.

e Pollutionv’
e Tobacco smokingv’
e Alcohol abusev’ (2% 1y 22)

2.1.2 Why will output in the goods market increase when
businesses in the perfect market make economic profit?

More businesses will enter the industry to take advantage of
(1x2) (2

economic profit v'v/
(accept any other correct relevant answer)

2.2 DATA RESPONSE

221 Which market structure is depicted by the logos above?

Oligopolyv (1)

2.2.2 Name the type of a demand curve for the above market structure.

Kinked demand curvev’ (1)
223 Briefly describe the term short run.

A period of production where only the variable factors of production can
change while at least one factor is fixed v'v/

()

2.2.4 Why is it difficult for new sellers to enter the car industry?

It is because of the barriers such as economies of scale that the few large

existing firms enjoy v'v'
(accept any other correct relevant answer)

)

Copyright reserved
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»  Through product differentiation, products might slightly -

- differ in terms of physical appearance, packaging etc.v'v'

~ * Improve after-sale-services that are far more important to

customers and will ensure a long-term relationship with & !
that businessv' v : B

e To spend more money on advertising to lure consumers 3 :
onto their sidev'v’

e To establish brand loyalty, because oligopolies want
consumers to believe that its brand is the best and to buy
only that brandv' v/

e Through product proliferation, oligopolies may produce
many different ranges of products to cater for many
different marketsv'v’

e By extending shopping hours to encourage greater
flexibility to householdsv'v/

e Through online purchases, it becomes easier for -
customers to shop around without any additional
cost/variety of goods available to make comparisonsv v’

» Paying loyalty rewards to customers for continued

SUPPGry v’ (262) " i(d)
Accept any other correct relevant responses)
2.3 DATA RESPONSE
2.3.1 What is the selling price for the firm above in the long-run?
e RI0V (1)

2.3.2 Identify the equilibrium quantity for the industry in the short run
e 15000 v (1)

2.3.3 Briefly describe the term explicit cost.

s * Actual expenditure of a business v'v/ (2)
234 How is the price for a perfect competitive firm determined?

* The interaction of market forces of demand and supply v'v* 2)

Please turn over
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o 2.3.5 Why does a short run equilibrium position in a perfect market will not
remain fixed in the long run?

e Profits will attract more entrants into the market, which will lead to an

increase in supply v'v' :
e This will drive prices down towards average costs and profits will

decrease v'v/ @
e The new equilibrium position will be a normal profit v'v*

2.4 Briefly discuss the nature of the product and market entry as characteristics
of monopolistic competitive market

Nature of product
e Each firm sells a slightly differentiated product v v/
e Differences might be real or imagined / differences can be based on the
opinion of consumers v'v'
e Producers can compete against one another on the grounds of unique
characteristics v v Max 4

Market entry

e Entry into the monopolistic competitive market is easy and free v'v/
e There are no barriers v'v'such as licences, permits, patents and other (8)
restrictions v Max 4

2.5 Why does government sometimes proceed with a project even if private costs
exceed the private benefits in cost-benefit analyses?

Governments might proceed with a project when:

e the primary objective is to provide public goods and services. v v/

e social costs and social benefits are also taken into account when deciding on
a project. v'v/

* aservice is vital to the existence of the community. v'v/

» when a need for infrastructure is necessary but might not have any benefits in
terms of profit, e.g. the building of a community centre or a bridgev' v’

 funding of these projects are mainly financed through tax revenue and does
not impoverish any individual as such. v'v/

e this infrastructure adds to the welfare of the community at large and is non- (8)
excludable to anyone using it. v'v'

[40]
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3.2.3 Briefly describe the term domestic tourism.

e South African citizens travelling within the borders of South
Africa v'v'

3.2.4  How does tourism help raise government revenue?

 Tourists pay taxes to government, e.g. Airport departure taxes and
hotels levies increase the amount of taxes collected v'v* (2)

3.2.5 What are the negative effects of Covid-19 on the tourism
sector?

e The tourism industry lost huge amount in terms of revenue
due to countries imposing lockdowns in efforts to curb the
virus v'v/
e This has resulted in many jobs being lost ( approximately
100 -120 million jobs according to the UNWTQ) v'v/
e Countries implemented travel restrictions leading to an
estimated 1,1b loss in terms of international tourists v+ 2x2) (4)

(Accept any other correct relevant responses)

3.3 DATA RESPONSE

3.3.1 Identify the environmental problem depicted by the cartoon above.

e Deforestation v (1)

3.3.2 Name ONE consequence of the problem identified in the cartoon.

e Soil erosion v
e Desertification v/
e Destruction of the natural ecosystem v/
» Increase in COzlevel in the atmosphere because of lack of trees to
absorb it v' — this can lead to global warming which in turn can
cause climate change v/
e Loss of biodiversity v
(Accept any other correct relevant response)
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3.3.3  Briefly describe the term biodiversity.

The variety of plant and animal species/life in a specific arealit relates
tD_ th_e number of generic variety among individual plant and animals
within a community of organisms v'v/ (2)

3.3.4 What impact does desertification have on food security?

e It makes it impossible to grow crops on the land, hence decreases
food production and threatens food security v'v* (2)

3.3.5 How do forests reduce the effect of greenhouse gases?

o When natural forests are increasingly cut down for human use,
greenhouses gases are increasing in the atmosphere v'v—as
greenhouse gases accumulate in the atmosphere the forests are
needed to absorb it v'v/ (4)

3.4 Briefly discuss employment as an effect of tourism.

e Tourism employs 7% of South Africa’s workforce (approximately 1.12 million
people) v'v'
e Tourism is the largest provider of jobs because it:

- Is labour intensive v'v’
- Employs many different kinds of skills, e.g. tourist guides, hotel staff, etc.

v v
- Provide immediate employment v'v/
- Provide entrepreneurial opportunities v' v
e Tourism is the largest earner of foreign exchange because:
- Foreign tourist pay for services in foreign exchange v'v'
- Foreign tourists usually spend more than local tourists v'v' (8)

3.5 Why is itimportant to conserve and preserve the country’s natural resources?

It is important to conserve and preserve the country's natural resources because:

o it will ensure that future generation is able to access the resourcesv'v -
taking into account that some natural resources are fixed in quantity and
non-renewable v'v/

* acountry needs them for its development, v'v e.g. to generate energy v

e of the need to stay alive — nature provides all the essentials for daily needs

* awide range of industrial material and biological material from plants and
animals, directly and indirectly are used in production and in manufacturing
of medicine vv

e Industrial development requires mineral resources v v’

Copyright reserved Please turn over
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e It helps maintain an environmental balance, protect wildlife and promote

biodiversity vv (8)”
(Accept any other correct relevant responses) [40

QUESTION 4 MICROECONOMICS AND CONTEMPORARY ECONOMIC ISSUES

4.1. Answer the following questions.

4.1.1 Name any TWO kinds of inefficiencies related to market failure.

e Productive inefficiency/ technical inefficiencies v

e Allocative inefficiency v 2x1) ()
4.1.2 How would a lack of investment in infrastructure affect the
tourism industry?
Lack of investment in infrastructure will result in unavailability of the
necessary infrastructure/inadequate/poorly-maintained physical and
basic infrastructure to support the tourism industry v'v/ (1 x2)4(2)
4.2 DATA RESPONSE
4.2.1 What is represented by the letter B?
Revenue maximisation point v’ (1)
4.2.2 What quantity must the monopolist sell to obtain the maximum
revenue?
600 v (1)
4.2.3 Briefly describe the term marginal revenue.
e The extra amount of income gained by selling one more unit of @l

production v'v/

4.2.4 Why is the upper part of the demand curve represented by the letter C
regarded as elastic?

This is because as the monopoly decreases the price, the total revenue
increases v'v’

DOWNLOAD MORE RESOURCES LIKE THIS oN ECOLEBOOKS.COM
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he loss in total revenue if the dacreas
rice from R40 to R30. monopolist decreases
Show all calculations

R40 x 600 = R24 000v
R30 x 700 = R21 000v
R24 000 - R21 000 = R3 000v' v (2x2)

4.3 DATA RESPONSE

4.3.1 Give ONE source of environmental friendly energy.

Water v/
Wind v’ |
Sun v’ (1)

4.3.2 Name an international agreement that is aimed at managing nuclear
waste.

Basil Convention v/ (1)
4.3.3 Briefly describe the term environmental sustainability.

The ability of the environment to survive its use for economic activity/ it
refers to meeting the needs of the present generation without
compromising the needs of the future generations v'v/ (2)

4.3.4 How would climate change affect agricultural production negatively?

e Projected increase in temperature changes precipitation patterns
and changes in extreme weather events,v'v" and reduction in water
availability results in reduced agricultural production v'v/ (2)
(Accept any other correct relevant responses)

4.3.5 Why do businesses resist environmentally friendly production
methods?

e Environmentally friendly methods are costly and will reduce

businesses profitsv' v/
e They are also time consuming and will require them to train more  (4)
employeesv' v/
(Accept any other correct relevant responses)
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Unlike in a monopolistic competition, a monopoly enjoys the te"‘;sje_lr]ﬁ‘ias"f
the barriers that prevents new firms from entering the market.
makes it the only seller of a particular product that has no close

substitutes. v'v' : : ket
In a monopolistic competition there are no barriers to entry in the mar

and economic profits attract more firms to enter the market. v'v' As a
result, firms end up making normal profits in the long run. v'v/ :

The monopoly has the market power to influence price by changing the
quantity of goods it supplies. v'v/

The quantity that it supplies enables it to maximise profit hence it makes
profit both in the short term and the long term.v'v/

(Accept any other correct relevant responses)

4.5 How can countries deal with the problem of pollution?

Countries can deal with the problem of pollution by:

Developing alternative sources of energy, e.g. solar and wind than fossil

fuels v'v/
Reducing industrial pollution — remove pollutants from exhaust streams of

power plants and industrial plants before they enter the atmosphere v'v
Implementing international agreements without fail, vv' e.g. The Kyoto
Protocol v levying carbon tax on CO2 emissions to encourage conservation
imposing heavy penalties on industries that do not comply with
environmental regulations v'v

plant and grow as many tress as possible to help reduce the impact of
greenhouse gases v'v/

reusing, recycling and reducing v v— recycled products take less power
than products that are produced from scratch v v

Avoiding the use of products that have a high chemical content, e.g.
perfumes, paints, etc. vv'

taking a bus or carpooling or riding bike or walking instead of driving v'v
manufacturing hybrid vehicles since they have an electric motors and
rechargeable batteries v'v/

Making use of cars that have greater fuel efficiency v'v/

Buying less goods as this mean that fewer goods will be produced hence

less air pollution v'v

(Accept any other correct relevant responses) (4x2)

b issenved DOWNLOAD MORE RESOURCES LIKE THIS oN ECOLEBOOKS.COI
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SECTION c

Answer any ONE of the two questions in this section.

QUESTION 5: MICROECONOMICS

¢ Discuss causes of market failure under the following headings:

-Externalities (10 marks)
-Imperfect competition (8 marks)
-Immobility of factors of production (8 marks) (26)
e Evaluate the success of government in the implementation of
minimum wages. (10)
INTRODUCTION
e Market failure is occurs when the forces of demand and supply fail to allocate
resources efficientlyv’ v’
(Accept any other correct relevant introduction) (Max.2)
BODY
MAIN PART

Externalities
e Externalities are costs not included in the price of the product or service, and

consequently there is a difference between the private cost/benefits and the

social costs/benefits of production v'v/
e Privatelinternal costs v - the cost of producing the good or service which

translate into the price that consumers pay v'v
Private/internal benefits v — are the benefits that accrue to those who

produce goods and buy these goods, v e.g. producing a bicycle (for
producers) and using the bicycle (consumer) v/

e Sociallexternal costs v — are total costs incurred by society as a whole.
v v'For example, the social cost of electricity includes the cost of capital,
inputs and the cost of the externalities such as dirty water and air. v'v'Social
cost = private costs plus external costs v'v'

e Sociallexternal benefits v — this include the total benefit experienced by
society as a whole. v'v'For example, municipalities provide clean water to
society which results in fewer ilinesses v/

Social benefits = private benefits plus external benefits v'v'

o Negative externalities are things like pollution, tobacco smoking and alcohol
abuse. v'v'The costs of negative externalities are paid by society rather than
by the producers. v'v'For example, the treatment to ilinesses related to

tobacco smoking are is paid by society v’

Copyright reserved Please turn over
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* Some workers lose jobs

MDE/September 2021

A because employers will fail to afford to pay them, this
Increases unemploymen

tvv
* Workers are still e

arning below minimum wage because they fear losing their
jobs. vv

* There s still huge

gap between the rich and the poor v v
(Accept any other correc

t relevant responses)
CONCLUSION

Government cannot just allow markets
country. It therefore intervene

(Accept any other correct relevant higher-order conclusion)

Copyright reserved

(Max.10)

to fail as it will be bad for the p_eople in the
s to limit the consequences of market failure v'v’

(Max.2)
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QUESTION 6: CONTEMPORARY ECONOMIC ISSUES

e Discuss in detail the measures that can be used to combat inflation. (26)
« What positive impact did the 2020 lockdown have on the South African  (10)
Reserve Bank's decision on interest rates?
INTRODUCTION
Inflation is a sustained and significant increase in the general price level of goods and
services over a period of time resulting in a decline in the purchasing power of
money/policy makers can use various policy measures to fight inflation when it gets too
high or to get it within the required inflation targets v'v
(Accept any other correct relevant introduction)
(Max.2)

BODY
MAIN PART

Fiscal measures v
Are measures taken by the Minister of Finance regarding taxation and expenditure v v/

These measures include:
An increase Iin direct taxation (personal income tax) which will help to decrease

demand v'v
An increase in indirect taxation (VAT) causes spending to decrease because

goods become more expensive v'v’

A loan levy v'- Reduces the disposable income of consumers v v

The state cuts back on expenditure by cancelling government projects like
roads, hospitals and schools v'v/

The country’s financial budget is non-inflationary (the government uses
loans from the non-banking sector to limit inflation) v' v/

The state imposes surcharge on imported goods v'v'This increases the price
of these imported goods resulting in many people being unable to afford to buy

these goods v'v

Monetary measures v/
Are measures taken by the governor of the reserve bank to combat inflation v'v/

The SARB adjusts the quantity of money to the needs of the economy,

v'v'e.g. through open-market policy, thus maintaining a fine balance v/

e The SARB curbs inflation caused by excess demand by reducing the money
supply v'v'

e The bank rate of the central bank (SARB) affects the interest rates in the

economy v'v'The bank rate can be raised to encourage savings v'v*

Please turn over
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Excessive credi icti
2 redit can be reduced by restricting the granting of credit by banks

o 'II)'hekcen;ral bank can increase the cash reserve requirements for commercial
anks, thereby reducing the amount of money available for commercial banks to
lend out to the general public v'v
e The SARB sell government securities (government bonds) thereby reducing
the amount of money in circulation v'v'

Other measures
Additional measures that can be taken to fight inflation include:

e Increase productivity v - This is a long-term measure generated through
improved education and training which allows more people to be employed and
ensure that they are more productive v'v'

e Price control — By fixing the prices of certain essential goods, the government
assures that they remain affordable v'v*

e« Wage policy v — The government takes a decision to break the inflationary
spiral of increased wages and prices by keeping the increase in wages below
the level of inflation v'v/

« Stricter conditions for consumer credit v — The government makes it harder

for consumers to get credit in order to restrict their spending v'v'

Encourage personal savings v — Government implements measures to
encourage savings, v'v' e.g. by cutting taxes on savings. v The imbalance
between demand and supply is corrected by increased savings, as people save
more and spend less

e Import controls are relaxed v'v/

Floating exchange rate v — Prices are automatically adjusted to international
conditions

Indexation v — A policy of linking price items such as wages, pensions and
mortgage bond interest rates to price indices to eliminate the effects of inflation
Vv

(Accept any other correct relevant responses)

(Max.26)

ADDITIONAL PART

What positive impact did the 2020 lockdown have on the South African Reserve
Bank's decision on interest rates?

e The lockdown has resulted in the SARB taking unprecedented decisions with

regard to interest rates.
In 2020, the SARB monetary policy committee cut the interest rate many times.

[ ]
e In January 2020, interest rate was cut by 25 basis points, that came as a result
of the impact of the corona virus pandemic in the South African economy.
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the repo rate was left at 3.5% in order to support the
already in recession before the pandemic.

ptany other correct relevant responses)
~ CONCLUSION

Inflation affects economic

growth by changing the labour supply and demand. And thus
Ng aggregate employment in the sector that is subject to increasing return. The

reduction in the level of employment will reduce th i Vi i
e marginal productivity of capital v'v'
(Accept any other correct relevant higher-order conclusigon) ¥ b4 :

(Max.2)
[40]

TOTAL SECTION C: 40

GRAND TOTAL:  {150]}

DOWNLOAD MORE RESOURCES LIKE THIs on ECOLEBOOKS.CO

*



https://ecolebooks.com
https://ecolebooks.com

